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Pasr Examinofion  Quesnons

Show that the tangents to the curve y =2y+8x—17 at the.points where x = 4 ate
perpendicular. (N86/P2/6b) S ' g

Show that the equation of the normal to the curve y =2x + at the point (2, 7) is y+2x =11
Given that thls normal meets the curve again at P, find the x co-ordmate of P ¢l 87/P1/9)

k42

Given that y= ‘[_2, prove that D32 pence obtam the equatlon of the normal to

27 0
the cui"\&e y= @ at the point on the ‘cur\}e Where x=4. ¢l 87/P2/6c)

Find the equation of the normal to the curve y= 2x2 —1 at the pomt ( ) (J 88/P1/2)

FindA the equetio_n of the normal t_o the curve

P is the point (3, 4) on the curve y = 3x% — 12x+ 13. Fmd the- co-ordmates of the point of
intersection of the normal to the curve at P with the line x+3 =0. (N89/P1/2):

Find the equation of the normal to the curve x? + y =2x+5y+2 at each of the two pomts
where x =4, (N89/P2/5b) - :

The tangent to the curve.y =x* —6x+11 at P(2, 3) meets the y-axis at 4 and the x-axis at B.
Find (i) the equation of the tangent, (ii) the area of the. triangle AOB, where O is the origin,
(iii) the ratio AP:PB. (J90/P1/2) .

Calculate the co-ordinates of the point on the curve y =2x*—3x+2 at which the. g'radlent of
the curve is 5. Calculate the value of the constant k for which y= 5x+k is a tangent to the
curve. (J91/P1/2)

Find the equation of the tangent to the curve Y2 —8x-2y+ 13=0at (2, 3). (J91/P2/60)
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4
8x—3y~-29=0 -
2x+4y+1=0
y=5x-25

(‘”3,5)
x+6y=16,6y—x=14
i) y+2x=7

(i) 127+ units®

A (2,4),-6

WO y=2x-1
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